Biology


Hour_____

Name______________________________________________
Wexler/Fennelly
Habitat and Niche
Date:
[image: image1.png]Cape May warblers
feed in the upper
 area of the tree.

Bay-breasted
warblers feed
in the middle
of the tree.

Yellow-rumped
warblers feed

in the lower part
of the tree.





An organism’s habitat is like its address.

A habitat is the place in which an organism lives; a specific environment that has an interacting community of organisms.

A niche is an organism’s mix of requirements and tolerances to environmental factors, including the role it performs in its ecosystem.

Giraffes and gazelles both live in the African grasslands of the savannah biome and are both herbivores.  Giraffes can live in the same area as gazelles because they eat different plants and don't compete with each other. Dung beetles bury the feces of these animals and lay their eggs in it. The hatching grubs feed on the feces. The buried feces also fertilize plants, which in turn feed the gazelle and giraffe.
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Do the giraffe, gazelle and dung beetle share the same habitat?  What is it?

Do the giraffe, gazelle and dung beetle share the same niche?

Explain the niche that each animal fills.

Giraffe:

Gazelle:

Dung Beetle:

When animals fill different niches:

· this reduces competition between species, allows for an increased amount of biodiversity in an area.

When animals occupy the same niche in a habitat:

· this increases competition between the species.

Answer the following questions.
1.  When habitats are destroyed, there are usually fewer niches for animals and plants. This action would most likely not lead to a change in the amount of

(1) biodiversity

(2) competition

(3) interaction between species

(4) solar radiation reaching the area

2.  Two closely related species of birds live in the same tree. Species A feeds on ants and termites, while species B feeds on caterpillars. The two species coexist successfully because

(1) each occupies a different niche

(2) they interbreed

(3) they use different methods of reproduction

(4) birds compete for food
The ecological niches of three bird species are shown in the diagram below.
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3.  What is the advantage of each bird species having a different niche?

(a) As the birds feed higher in the tree, available energy increases.

(b) More abiotic resources are available for each bird.

(c) Predators are less likely to feed on birds in a variety of locations.

(d) There is less competition for food.

A scientist studied iguanas inhabiting a chain of small ocean islands. He discovered two species that live in different habitats and display different behaviors. His observations are listed in the table below.

Observations of Two Species of Iguanas


4.  Which statement best describes these two species of iguanas?

(a) Both species evolved through the process of ecological succession.

(b) Each species occupies a different niche.

(c) The two species can interbreed.

(d) Species A is a scavenger and species B is a carnivore.

5. An ecological “niche” can be defined as:

(a) the role an organism plays in its community
(b) the range of environmental factors an organism requires and/or tolerates
(c) both (a) and (b)


6. During resource partitioning, two different populations of organisms
(a) compete until only one species is left

(b) mimic each other

(c) share resources, but occupy different niches
(d) consume all the resources in a habitat


7. The realized niche of an organism is
(a) the area a species can occupy within a habitat in the face of competition
(b) the habitat of a species
(c) all the potential areas in a habitat it can both tolerate and meet its resource requirements.

8. During competitive exclusion:
(a) the more abundant species will exclude the less abundant species by taking up all of the available space.
(b) no two species can occupy the same niche indefinitely when resources are limited

(c) larger organisms exclude smaller ones, for example large trees preventing the growth of underbrush.
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9. The pileated woodpecker’s niche includes helping to control
(a) tree growth rates
(b) insect populations
(c) earthworm populations


10. Animals like pinyon jays, red squirrels and chipmunks
(a) help spread seeds
(b) control insect populations
(c) control woodpecker populations
11. Providing food and shelter, and preventing erosion, are part of the niches of
(a) plants
(b) herbivores
(c) scavengers

12. During resource partitioning, two different populations:
(a) compete until only one population survives in the habitat
(b) mimic each other
(c) share resources, but occupy different niches
(d) together consume all the resources in a habitat
13. List at least 5 abiotic factors that may help define an organism’s niche:
(1)
(2)

(3)

(4)

(5)

14. Give an example of two organisms that live in a tree branch habitat but occupy different niches.  List the different requirements, tolerances, and roles that differentiate their niches.
15. Explain the difference between the potential niche and the realized niche.  Which is narrower?  What causes the difference? Give an example.
16. In competitive exclusion, organisms occupying exactly the same niche cannot coexist because they will complete for the same resources, and one will outcompete the other.  Go on the internet and find (and describe) and example of how two closely related species of organisms differentiate their niches to reduce or eliminate competition. 
